Particle Physics HW 1 Quiz Name KEY

You can try both problems below, but you will only receive credit for the most correct solution.

1. (6pts) Consider the set of transformations in 3D on a rectangle which carries corners into

corners based on the representation pictured. Draw and label the full set of configurations,
select a set of basis vectors and construct the corresponding group transformations as matrices.
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(4pts) Construct the multiplication table for this group. Is it abelian or non-abelian?
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Turn over for second problem!!



2.

(10pts) Consider the group U(1,1) which is comprised of 2x2 matrices with complex elements

that satisfy ATgA = g where g = (_01 (1)) Determine the number of continuous free

parameters in this group.
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